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JIE 52 R4 FE 95 | stk (E) =
1 ESTEN 2 1 264 %
2 EINERR 2 1 236.0 iR
3 HA/NER 2 1 234.0 2R
4 L UN 2 2 213 iR
5 ELSUD 2 1 196 £
6 A/ 2 1 190.0 A
7 42/ 2 2 188.0 ETE]
8 HEF/NER 2 1 184.0 A
9 FHREFEE/N 2 1 183.0 A
10 fEf A VRS 2 3 175.0 R
11 IR D /N 2 2 165.0 £/
12 RERIINER 2 1 153.0 A
13 =ILUN 2 1 148 R
14 NI 2 1 143.0 A
15 FA=ERD 2 1 130.0 £
16 = ELN 2 1 128.0 A
17 BE/ 2 2 126.0 £
18 HIFR A /N 2 1 125.0 L]
19 BE/ 2 1 124.0 i
20 REFNER 2 1 122.0 ETE]

+i#E/0 2 7 120 i
AL/ 2 2 112.0 i
A /NER 2 1 112.0 ETE]
ZBE/INER 2 1 102.2 i
i/ 2 1 102.0 i
BB INER 2 1 95.0
=/ 2 1 93.6
E R/ 2 1 93.0
BAEE/ND 2 2 88.0
RENDFER 2 1 85.0
LA R /NERR 2 1 80.0
42 2 1 80.0
A/ DR 2 1 75
BET R/MVER 2 1 65
=1RA /N 2 1 59.0
BiR/NDNER 2 1 58.0
st =/ 2 2 56.3
#2/\ 2 1 56.0
B A/ 2 1 50
KENER 2 2 49.0
B8/ 2 1 43.0
KETOLY=E 2 2 37.0
BINER 2 1 32.0
B Ak /N 2 2 30.0




